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2016 EWE 2 mass ﬁ‘“

7 E RSB =NV £ ==
il = 2 38,000
B OV = 1 383,000
REEEeR = 1 30,000
AR 48 1 238,000
& TR 48 1 88,940
FE# 48 1 28,000
TETR = 1 57,750
R E IR = 1 70,000
IREDER A = 1 258,000
FI = 7 178,250
T)EIH #8 1 544,000
V=P = 1 30,000
FIE5| T = 3 51,500
mE Bk 48 1 95,000
hnZEhgs = 1 17,500
yic) = 1 144,900
—HASE& & 1 24,675
ACERER & 3 127,800
ERFET 48 1 190,000
WEEE & 1 48,300
BBFRF = 2 63,000
HEFT = 1 365,000
KEERBIMTE = 1 1450,000
REELR #H 1 245,000
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& fir
AN ERR & 2 60,500
BARBERREIMTE = 1 275,000
LR 5= 2 149,000
JRF IR RE = 2 5,241,000
B ] A = 2 588,000
BERF = 1 65,000
PR BE = 1 775,000
BEs = 1 65,000
BEEED & = 1 53,600
BEHEF 48 1 420,000
LB E R = 1 80,000
(EVNE = 17 406,366
RIARES = 3 480,089
E i = 2 108,000
AR B B = 1 75,900
BT 7] 1 46,930
MiEes Er] 1 258,000
NEFEBEMASR = 1 19,300
R AR R AC BB & 6 61,200
B R = 1 50,000
KOEE @ 4 80,000
BT AEREIR 48 1 16,000
ey = 2 76,000
ESR Y = 2 76,800
R (R f = 23 922,585
KFE = 3 86,234
RIENE = 1 63,000
EIE-E5T: = 2 16,500
FHE R = 1 25,000
BRIK 1 JAE 1 28,500
jfis]=7 = 1 25,000
= = 1 51,748
e @ 1 41,400
FHIE SR HE 48 1 57,500
=) 15,620,767
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2016 fﬁiﬁé@Z@%%

BEXAEERE - KX (=E 1,727,484
R #ERIPT iV 1 275,498
a&t 2 2,002,982

2016 FHUS Z 3 B RE
BRI R

NI - = | BE

BpAERE TGS 1 31,000 2016/05/21  2025/11/12

AR RO R4 Gs 1 31,000 2016/06/01  2026/02/24

BEEXRYE REERE # 1 31,000 2016/06/01  2026/01/31

TS # 1 31,000 2016/08/01  2026/05/11

BRI E Gd 1 31,000 2016/09/11  2026/06/07

EERAEE AR Tas 11 16,965 2016/10/11  2026/03/16
5 1 6 171,965
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